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ST forerr wel foreror o

CHILD DEVELOPMENT AND PEDAGOGY

gg Afufgm S sem Afwdl ¥ wafad
-

(A) Glogecjo€lo Afafa9 1995

(B) Hogsgjosio Sifafam 1997

(C) HiogseioSlo Afafam 1992

(D) tﬁogﬁné’ru stafEa 1990

ﬁwﬁafmﬁ‘ﬁaﬁ?—mﬁm?agﬁnﬁml

dF+1% H 91 7ol a—
(A) IR F

(B) T

(C) wiefem

(D) =RAM &

AFIT (A) : Ta W F THAT SRR
ferenrera @ 34t 2
FROT (R) : FEHAT TR | AT B¢ T

(A)SHIA9R T & '
(B) Tl A § R 319 &
C)FaT A TIE

(D) ¥9¢ R 97 &

The act which is concerned with persons
with disability is :

(A) PWD Act 1995

(B) PWD Act 1997

(C) PWD Act 1992

(D) PWD Act 1990

Which of the following is not a part of peer
tutoring teaching strategy :

(A) Explaining

(B) Reinforcing

(C) Modelling

(D) Lecturing

Assertion (A) : Girls from poor families
usually drop out the school.

Reason (R) : Girls look after their younger
brothers and sisters at home.

(A) Both A and R are true

(B) Both A and R are false

(C) Only A is true

(D) Only R is true

Set-D



afs foel a=a &1 AFESE g 12 #R afas
9 10 ¥ O 3T gfgafed aril—

(A) 120

(B) 20

(C) 80

(D) 100

Hifas Jher &1 v 941 —

(A) foenfgar =1 =wfeTgdl Fi 9g=F &

(B) W4T & YR Yai@ Td &dicl 4N Fi W9
FT

(C) foeanfdar F amE 19 F1 W% $ F
&I 1 W= HEAT

(D) SWI [l

s & foafddl & fou fs § 9 s-w
foreqor =1 TF =3 WIEAH B—

(A) =arEaH fafg

(B) Gocia fRaraam

(C) g S

(D) sErTeen fafy

. FvEa g = foen & fau geam o =
ol e—

(A) G g

(B) =4 =11 § Tt

(C) TEfa foen g/

(D) T | Fk T2

|

ACEB - FIR

If the mental age of a child is 12 and
chronological age is 10, his IQ will be :
(A) 120

(B) 20

(C) 80

(D) 100

What 1s the purpose. of oral test :

(A) To diagnose students' difficulties

(B) To test fluency and flexibility of
language

(C) To test students' ability to manipulate
language

(D) All of the above

For the students of 3rd class, which will be
the best way for teaching :

(A) Lecture method

(B) Creative activities

(C) Group discussion

(D) Laboratory method

A provision for education for the children
with disabilities can be made :

(A) Through integration

(B) By including in the mainstream
(C)Through inclusive education

(D) None of these



8.

10.

AFeT F 9% YR W 6 foeniad & aferm
%t iy o+ qo1 fomida # Iyafed w@
s ol &1 9gat 99 UE faenfdEi =it
FAARE H QW FA W TEfa 2, Feed
B—

(A) TEIHS ATH

(B) TG e
(C) 9 3Tehedd
(D) 2aRaE kel

YaTi-TTecs STl § Y] 199 aramaEson &
IO Fd E—

(A) aife® faaa gra

(B) da7 Td TEAE GRa1 g1

(C) Teimfes =g g

(D) 3fa= fofa g

fawrE =1 fog @@ &1 T & %@ 9
=

(A) aTeaTeET

(B) Sgraee

(C) reraree

(D) feremaaen

10.

ACEB - FIR

The type of assessment which focuses on
getting feedback about pupil’s learning and
weaknesses in order 1o improve student's
achievement and instructional strategies is
called -

(A) Formative Assessment

(B) Summative Assessment

(C) External Assessment

(D) Internal Assessment

In the sensory motor stage infants explore
the world through : |

(A) Logical thinking

(B) Sensory and motor actiﬁly

(C) Telegraphic speech

(D) Moral judgement

Which stage of development is called as
‘gang age’ :

(A) Childhood

(B) Adulthood

(C) Infancy

(D) Adolescence

Set-D



11.

12,

13.

14.

T # T W ¥ fa foa weh |

g =1 ¥ivs a—

(A) ZTE8 T i1 HEEed
(E)‘Glﬁﬂ:ﬁéﬁﬂﬁf\ﬁ

(C) TEH T A WS TIeRes W
(D) = 7

foren & SfEFaT &1 SH-91 SUH TS @l
¥= ¥ @ ¢, 7 5 foas a1—

fray Tor € 5 =3 9OR ¥ Aas i
feard F 99 9 4 e—

(A) 79 =

(B) STl

(C) 5 firmst

(D) R

11.

12.

13.

14.

ACEB - FIR

UNESCO report on ‘Education for-the 21st -
Century’ was titled :

(A) Towards a learning society -

(B) Learning : The Treasure Within

(C) Towards a human and enlightened society
(D) Learning to be

Which approach places the learner, not the
teacher at the centre of the education process :
(A) Constructivistic Approach

(B) Behaviouristic Approach

(C) Functionalistic Approach

(D) Structuralistic Approach

Learning is influenced by : E
(A) Social interactions -
(B) Interpersonal relations

(C) Communication with others
(D) All of the above

Who said that children are born into the
world with a ‘Language Acquisition Device’ :
(A) Noam Chomsky

(B) Vygotsky

(C) Jean Piaget

(D) Bruner

Set-D



15. HoTeeoTdol+o T4l I g ar fI&i® 2q
FH-G 9oF I EHER T—
(A) THR 3F HTE]
(B) U SR Fi o3& Haedl

16. fFrefafed ¥ ¥ SE-91 We9o e T
S
(A) WNF FFeaie SR
(B) Si-31-H7 &8
(C) 16 THMHfate HaT
(D) diifes TRASH =

17. oo Siva § fifed 2—
(1) ST
(2) |iEFET 9§
(3) Wi
(4) TG

(A) %a@ (1) R (2)
(B) (1), (2), 3)

(©) (1), (2) (@)

(D) (1), (2), (3), (4)

ACEB - FIR

15. Which type of sitting arrangement is ideal

16.

17.

for a teacher teaching CWSN to students :
(A) Circular sitting arrangement

(B) U shape sitting arrangement

(C) Both A and B

(D) Row-wise sitting arrangement

Which of the following is not a projective
test :

(A) Rorschach Inkblot Test

(B) Draw-a-Man Test

(C) 16 Personality Factor

(D) Thematic Apperception Test

Communication skills involve :
(1) Speaking

(2) Active listening

(3) Body language

(4) Writing

(A) Only (1) & (2)

(B) (1), (2), 3)

(©) (1) (2), (4)

(D) (1), (), (3), (4)

Set-D



18. W4 Ifg wd fawm ywifad B 2—

19.

21.

(A) SUFFE |
(B) STERVT ©
(C) A9 B SR
(D) IR ¥ | FE &

HloTsoTHoTHo & fou g e o= | 19.

3
(A) TEarES Afem
(B) Wt wye fRregor
(C)SFi A R B
(D) =g fafy

ARTROT F1 RO 8—
(A) 98T Hfxd FaER
(B) eifefa @R

(C) TS} SRR

(D) we FHIgH Afgha

ey farmerdl ® @ Hsa geae e | 21

18.

| 20.

ACEB - FIR

Human growth and development is
influenced by :

(A) Heredity

(B) Environment

(C) A and B Both

(D) None of the above

The main teaching techniques for CWSN
are :

(A) Cooperative learning

(B) Peer tutoring

(C) Both A and B

(D) Lecture method

Motivation results in :

(A) Goal-directed behaviour
(B) Undirected behaviour
(C) Excited behaviour

(D) Problem solving attitude

The child centred evaluation system in
inclusive schools should be :

(A) Flexible

(B) Continuous

(C) Participatory

(D) All of the above

Set-D
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23.

i =i GF =1 98 Wy = i —
(1) FH2HA (2) JUERO
(3) &I &1 (4) TR

(A) B), (1), (2), 4)
(B) (2), 3), (1), 4)
(©) (1), 3), (2), (4)
(D) (3), (2), (1), @)

B © 9 59 984 BT T H W w0 S @
9gd Siedl 39 FE # H Bie 27—

(A) T SEA ¥ 9% S §

(B) 3T =R 74T &3 3 &1 =9 ot &
(C) 378 =2 &R Fi fa=n ot 2

(D) 3 =% 5ot 1 = o =

Frfafea o 4§ fra stowen & fay sne-Sfeg
BT 8—

(A) SrvETEEn

(B) & Sreararee

(C) frumrawen

(D) Srgraree

22,

23.

24.

25.

ACEB-FIR

What is the correct sequence of memory

process :
(1) Encoding (2) Storage
(3) Attention (4) Retrieval

(A) 3), (1), (2), (4)
(B) (2), (3), (1), 4)
(©) (1), (3), (2), @)
(D) (3), @), (1), @

Why do individual with high need for
achievement quit early when faced by very
difficult task :

(A) Get tired easily

(B) Have poor perseverance

(C) Have high anxiety

(D) Have high need for efficiency

The curriculum should be determined on the

(A) Cognitive

(B) Affective

(C) Psychomotor
(D) All of the above

In which of the following stages the child
looks self-centred :

(A) Infancy

(B) Early childhood

(C) Adolescence

(D) Adulthood

Set-D
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26. THONME B T GFAW T 2 fF | 26. It has been suggested by psychologists that

sfqureiier foers & gfewmr ¥ ffafad | giftedness from the teacher's point of view
¥ § forms g9t W sk =t 3— depends on which of the following
(A) 3= &I, S=9 GoEdl U9 S99 combinations :
e (A) High ability, high creativity and high
‘ itment
5 S i commitmen
(B) Average ability, high creativity and high
: commitment
R I (C) High ability; high creativity and averagé
BIERG) :
commitment
(D) SWE H ¥ SIg & (D) None of these

27. Hamos ®9 9§ gfenm Afw #i frafafga & | 27. Which of the following are important
} F- T v §— characteristics of an emotionally intelligent

person :

(1) 3194 G971 g SRl & uf gagaeid

(1) Perceive and be sensitive to your

& T i feeling and emotions

(2) 319 gam & e v Fafhe @ ‘ (2) Control and regulate your emotions

(3) SR € 9 S 9 (3) Undérstand the intensity of your
emotions

(A) %= (1) (A) Only (1)

(B) T (1) & (2) (B) Both (1) & (2)

(©)3H (1) T (3) (C) Both (1) & (3)

D) (1), (2) T (3) (D) (1), (2) & (3)




30.

e & M = ¥ Fuwy R 3
T ¥ W fofy weine swgE |

INEERIET
(B) #¥ &=
(C) 18R
(D) S¥raet

28. Maslow's theory is based on .......

29.

30.

11

(A) Feelings
(B) Desires
(C) Needs
(D) Works

In which type of ego defence mechanism
people attribute their traits to others

(A) Projection

(B) Repression

(C) Rationalization

(D) Denial

Which method is most suitable for studying
the classroom behaviour of the child while
teaching :

(A) Observation

(B) Case study

(C) Interview

(D) Questionnaire

Set-D
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31. HErR diwifaadl & e ¥ emues fou

el fys Hequl 8—

(A) Heel idifaadl &1 a9l § 39

EXEI
o, . W . n

(B) ifa® ¥ fas e asifedl &
AT | AT BT WIS Aqol

(C) GSHITHR HeTak didifaadl & S
S AT 3R 39HT & FET

(D) HeTR dFifwal & 314 T
TS HI

32, feafafea # 9 SH-91 $99 9@t &

fawg o @@ 23—

(A) S 39 a@ERe ¥ g9Et o R
Sl HORas €9 § GHRIE 8 3R
e =1 dqg 9 e 2l

(B) Wi@+ & fwdt it =o1 w diE
IS FRPT o THfad T&1 o 2l
(C) HiE1 Yo ®9 § wHtas f5ha1 2

(D) o= B &I T FfEA FT Heha Hdl
? 5 frdlt o =1 die & g

33.

12

iﬁaﬂ:fﬁﬁﬁﬁﬁiﬁﬁﬁﬁﬁiﬁﬂmﬁﬁfqﬁ
T W1 ( WoHo 33-37) & waltas e
faeea =t giv-
w4z faas g+ faaa =R,
EGRCIEE R
o wArES Hib 9,
S fayg wea =@l
@A A 1 aeed g —
(A) & =3
(B) I

OEESEE
(D) Tt ==

= F gied auiE § R oeieR =1 T

. ITF Uil ¥ FE-91 B W9 t—

(A) BT

(B) =
(C) GRS
(D) T

SET-D



37

38.

39.

Sy il feg o o forel 7 8—
(A) @€l el

(B) stsT H€I

(C) g

(D) wredt

SEH Ul ® YgE TS U &6
g e fawedl ¥ 9 68—

(A) TS

(B) A&

(C) F<y

(D) @™

‘Y’ v # 5T 9l H A g e —
(A)d + 3
B)fa +
(C)§+ST
(D)? +3

feu Tu sl A = o aren weg 2 —
(A) T
(B) T

(C) TS
(D) =A™

13

41.

42.

43.

ACEB - FIR
FY U] g—
AFFTH
B)aIad
(OB & E
(D)T = U q

‘ST 5 ol T—
(A) frdt W i@ 2
(B) f&dt W anf¥a =1 2

(C) T T WX 30f3a oA
(D) forsit =t enfda o <

‘35 ANvE T e—
(A) FHEIR 9

(B) TF HIB

(C) Helhrg

(D) e @

“Ta afs e =t FEE T @ FE T
F FEE 2 98 FIT REEH o—

(A) MR, BTa=

(B) THE= g

(C) WeTER 34 faas

(D) ¥ faarg wmi

SET-D
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44. T e ¥ T 0 W RE-w adewl | 47, €9 W e # 9gd Sl g o @

T & — sl G 38 e § o ww o 2
(A) 5=2 & fomT 21 TT0T WX a1 S | Fwiaem s ... I T 3—
(B) SE&HI AT WM & AN Hl A (A)aﬂﬁﬁﬁ?‘m dl
O (B) SA<:99Y
(C) ftaan
(C) 3% JAF 1 GHAT FE

(D) 99T &% R&FT & SGER SYciey HTAT I

48. &1 5 e o o <1 afysata
& foe ey e o Q form w1 =) gaifas

YU THH e—

& WE P (A) ‘G et 3 R R
Gl | T FU W A9 fNR o9 Fif
(B) &afT (B) ‘Gl W TGl YA TR & a9 F
(C) a1 | AN it

(C) |1 7 IRal F WY Fg 5w, =@
i A ) A A A
(D) ‘FHd’ 941 GF' & dH-di7 gt
e fafau|

46. HAA @ AYF YediwT FH A4 83—

(A)ash fredi B i 49. W faeo & w<d ¥ fe foers & fog

| i Hewgl 8 —
(B) e A &1 T e I (A) 13T | Fohaisll &1 s S
(C) Vet U Wy Wfarw & =1 Heaiw (B) ST SR & 314 TR WSH F1
(D) feTF &3 F TR (O frsifta wragssa it guf Fem)

(D) T4&T 1 IS FI

[14] SET-D




50.

firdor : Frmfatae T & 9ga U8

T Y9I ( WoHo 50-53) & WAl ferd |

I AT faaeq gie-

fe 1 a9 SR Mafes geaEr
SHF THA @l Wifas uiEaw & guiadn
tfafda o e ® SR Sied @l
ST i € & €, 98 died,
Fal, ¥4 3R <UF B AT W o
afeshd ®C AFd fae/ &l THE a9
fear 21 fyodt wosa ® foom & €
T F w9 ¥ Feaet 999 & Y H
wa T E, e % w9 H 99 T ©
AR 39 a< 7ol ¥ wEd F A4 AEE
S &1 A9 St & gehar 21 gafan Jfas
dr anfers geat w wg-wig fGwfaa
FH F TEEEd ¢, ad fawm TR
fau TR F1 €19 7 99 S0 Al w6
gedl afc W@ F ogsd 9 I @
g TR 99 9 3 T T @
TAF U G T@E § U-faTRRe F
HE 39 3R dAldfed @ AFiQl < HHhll
oy difds Afeadl &1 @Ml "Ed
A I AfFE & S SGEH T ©
IR TAF &V HH AT F TE H

YHI 2

T &1 T 3 A IR AT &

i safeT viEg €, Sife—

(A) 98 fogm w1 fowdgs wfesdi 9
s 2

(B) 3HH AcAfareard g gl S @l 2

(C) WFE ¥R & Wfa reEH T 2

(D) 9% Hifra wifeen Wil %1 @t 2l

ACEB - FIR

51. eNygts WA fowm &1 wafien & FE

1 Fhdl, Hife—

(A) Tifecd, gH, Fen e 7Ha <a 9
fraifad 8

B) forerrd F g3 7ra F wg | R

(C) sifasr wftay gofean wiafia &1 = 2

(D) Sita | G Tfavierar &1 SHey
Tl g3l

52. T4 9 & ET ¥ foau Swed 8-

(A) faom & 93 &0 & 79 ¥ e
R A F 79 ¥ B ™ B

B) dfds AR s Tl &1 THo4
fom 7 & @1 2l

(C) W™ 3 Wifeed, e, ¥H iR T+
A < 9 afespa w5 fa 2

(D) it sRaw Yoiear IRafia & 2

53, foaqm gaR foig AR 1 919 59 Wl B,

T

(A)AFE 3 39 I & Wi
AR a2l

(B) Ifd® 3R fcAs Hedi H WI-TY
fawra & & @ 2

(C) 3T HFd TAF &0 A i &
Y H YeEE gl

O fFeF @l s agd g3 ™
2
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56.

Yy’ @ A T —
(A)TTHE & 9HH faie @il &1 [
(B) FAMERI & H&HT €H

(C) ==l &l T& HI TH

(D) TTHE & U9 H1 TIH

fr=ifra ® 9 fog 99 ¥ UG &
i

(A) TH 3 TG0 & G 9 A/

(B) Higd ¥ 319 T&T &1 9l

(C) fewrera | Wi fperdt 2

(D) T1E | T Flel

frafafas § @ SF-a1 S B =
3

(A) A

(B) G4

©) facw

(D) I TS

57.

38.

59.

ACEB - FIR
frefafad veai # 9 fad =R |fyg 2—
(A) a4
(B) TSI

(C) TR
(D) 92HER

el & YER-TOR & ol =T T
-

(A) 3 A

(B) AR J=IfOf |

(C) et wifeca w=em

(D) TZHHET Y=R HiAfd

T H-9 UK €, S - aga § g
=l 8—

(A)_d

(B) 7&A

(C) 8H

(D) AT

SET-D
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First Language - ENGLISH

Directions (Q. 31-38) : Read the passage
given below and answt;r the questions that
follow.

It is strange that, according to his position in
life, an extravagant man is admired or despised. A
successful businessman does nothing to increase
his popularity by being careful with his money.
He is expected to display his success, to have a
smart car, an expensive life and to be lavish with
his hospitality. If he is not so, he is considered
mean and his reputation in business may even
suffer in consequence. The paradox remains that
if he had not been careful with his money in the
first place, he would never have achieved his

present wealth.

Among the two income groups, a different
set of values exists. The young clerk who makes
his wife a present of a new dress when he hadn't
paid his house rent, is condemned as extravagant.

Carefulness with money to the point of meanness

I

is applauded as a virtue. Nothing in his life is
considered more worthy than paying his bills.
The ideal wife for such a man separates her
housekeeping money into joyless little piles so
much for rent, for food, for the children's shoes,
she is able to face the milkman with equanimity
and never knows the guilt of buying something
she can't really afford. As for myself, I fall into
neither of these categories. If I have money to
spare, 1 can be extravagant, but when, as is
usually the case, I am hard up, then I am the

meanest man imaginable.

31. The phrase ‘lavish with his hospitality’
signifies :
(A) miserliness in dealing with his friends
(B) considerateness in spending on guests
and strangers
(C) extravagance in entertaining guests
(D) indifference in treating his friends and

relatives

Set-D



32.

33.

34.

In the opinion of the writer, a successful

businessman :

(A) is more popular if he appears to be doing
nothing

(B) should not bother about his popularity

(C) must be extravagant before achieving
success

(D) is expected to have expensive taste

Which of the following is opposite in

meaning to the word ‘applauded’ in the

passage :
(A) Humiliated
(B) Decried
(C) Cherished
(D) Suppressed

The statement ‘she is able to face the

milkman with equanimity’ implies that :

(A) She is not upset as she has been paying
the milkman his dues regularly

(B) She loses her nerve at the sight of the
milkman who always demands his dues

(C) She manages to keep cool as she has to

pay the milkman only a month's dues

(D) She remains compose and confident as
she knows that she can handle the
milkman tactfully

18

33.

36.

37

38.

ACEB - FIR

We understand from the passage that :

(A) all mean people are wealthy

(B) wealthy people are invariably successful
(C) carefulness generally leads to failure
(D) thrift may lead to success

It seems that low paid people should :

(A) not pay their bills promptly

(B) not keep their creditors waiting

(C) borrow money to meet their essential

needs

(D) feel guilty if they overspend

The word ‘paradox’ means :

(A) Statement based on facts

(B) That which brings out the inner
meaning

(C) That which is contrary to received
opinion

(D) Statement based on the popular opinion

How does the housewife, described by the
writer, feel when she saves money :

(A) Is content to be so thrifty

(B) Wishes life is less burdensome

(C) Is still troubled by a sense of guilt

(D) Wishes she could sometimes be

extravagant.

Set-D



39.

40.

Teachers of foreign languages are accused
of :

(1) suffering
departmentalism

from an extreme

(i1) not recognising the relationship that
exists between success in their subject
and individual ability, interest and
attitude towards study of language

(iii) being technicians rather than interpreters
of broad cultural concepts :

(A) Only (1) and (11)

(B) Only (i) and (iii)
(C) Only (i1)

(D) (i), (ii) and (111)

A teacher uses a particular situation
appropriate to a particular structure. His
approach of leading language 1s :

(A) Structural approach

(B) Situational approach

(C) Translation-cum-grammar approach

(D) Dr. West's new method approach

41.

42.

43.

19
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Which one among the following 1s not a
determinant of paragraph comprehension :
(A) Vocabulary

(B) Language structure

(C) Intelligence and training

(D) Material selected

What is not true about language :

(A) Language is primarily speech

(B) Comprises of arbitrary vocal symbols

(C) Language is based on common cultural
experiences

(D) Language is inherited

Fill in the blank with appropriate word :
Poetry increases a child's ........... to beauty.
(A) interest

(B) behaviour

(C) awareness

(D) sensitiveness
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Directions (Q. 44-49) : Read the extract 435.

given below and answer the questions that

follow.

Land of our birth, we pledge to thee
Our love and toil in the years to be;

When we are grown and take our place,
As men and women with our race b o
Father in heaven who lovest all,
Oh help thy children when they call; |
That they may build from age to age
An undefiled heritage !
Teach us to bear the yoke in youth,
With steadfastness and careful truth,
That in our time, thy grace may give
The Truth where by the nations live 47.
T'each us to rate ourselves always, I
Controlled and cleanly night and days
No maimed or worthless sacrifice
Teach us to look in all our ends,

On thee for judge, and not our friends
That me with thee, may walk uncowed

By fear or favour of the crowd 48

44. Whom does the poet pledge to :
(A) Father in heaven
(B) Men and women
(C) Himself
(D) Motherland

20
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What does the poet mean by ‘yoke in
youth’ :

(A) Yellowness of youth

(B) Fabric of youth

(C) Oppressive power of youth

(D) Charm of youth

Who are referred to as ‘thy children’ in the
poem : |
(A) Poet's children

(B) Human children

(C) Mankind

(D) School children

Whom does the poet want to look at for
judgement :

(A) Friends

(B) People

(C) King

(D) Motherland

What is the figure of speech in the line ‘as
men and women with our race” :

(A) Metaphor

(B) Hyperbole

(C) Simile

(D) Personification

Set-D




49. Write synonym for ‘undefiled’ :
(A) Unattempted
(B) Undefined
(C) Important
(D) Immaculate

Directions (Q. 50-51) : The following
questions consist of words underlined, followed
by four alternatives. Choose the word or

phrase that is opposite in meaning to the words

underlined.

50. They had an insipid conversation :
(A) Loud
(B) Argumentative
(C) Lively
(D) Curious

51. He harvested a rich crop from that fecund
land :

(A) Fertile
(B) Fruitless
(C) Obsolete

(D) Barren

ACEB - FIR

Directions (Q. 52-53) : Choose the
option that describes the meaning of the

following idioms and phrases.

52. A man of straw :
(A) An unreasonable person
(B) A man of no substance
(C) A very active person
(D) A werthy fellow

53. End in smoke :
(A) Bear no fruit
(B) Being colourful
(C) Benefit the poor and down trodden
(D) Motivate to produce

Directions (Q. 54-55) : Select the most
appropriate alternative for the given

expressions in the following questions.

54. One who is a breaker of images is called :
(A) Philanthropist
(B) Inconoclast
(C) Protagonist
(D) Terrorist

21
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55. One who loves all and sundry :
(A) Optimist
(B) Humanist
(C) Altruist
(D) Nationalist

Direction (Q. 56) : Transform the

following sentence into negative.

56. 1 saw the red fort last year :
(A) I did not see the red fort last year
(B) I never saw the red fort
(C) I failed to see the red fort last year
(D) I did not fail to see the red fort last

year

Direction (Q. 57) : Select the correct verb

form to fill in the blank space.

ST s hightime .. ool
(A) he will start earning his living
(B) he started earning his living
(C) he starts earning his living
(D) he has started earning his living

22
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The script of English language is :
(A) Greek script

(B) German script

(C) Roman script

(D) French script

The rising tone in English intonation
shows :

(A) Enemity

(B) Indifferent

(C) Friendliness

(D) Anger

The correct stress mark in the following
sentence is :

(A) 'l rang' you on 'the way' to the airport
(B) I rang 'you' on the 'way to the' airport
(C) I 'rang you on the 'way to the "airport

(D) T' rang you on the way to the airport
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Second Language - ENGLISH

Directions (Q. 61-66) : Read the extract
given below and answer the questions that

follow.

It takes much time to kill a tree
Not a simple jab of the knife
Will do it. It has grown

Slowly consuming the earth,
Rising out of it, feeding

Upon its crust, absorbing

Years of sunlight, air, water
And out of its leprous hide
Sprouting leaves

So hack and chop

But this alone won't do it

The bleeding bark will heal
and from close to the ground
will rise curled green twigs
Miniature boughs

Which if unchecked will expand again
To former size

No,

The root is to be pulled out

Killing a tree :

(A) 1s very easy

(B) is not as easy as one thinks
(C) requires knife

(D) is a crime

28

62.

63.

63.

66.

If the tree is hacked, it will .......... itself
S00n .

(A) heal

(B) kill

(C) pull

(D) green

The Expression ‘to kill a tree” suggests :
(A) The trees must be pulled out

(B) It is heinous to uproot a live tree
(C) Killing a tree 1s easy

(D) None of the above

The expression ‘bleeding bark’ suggests :
(A) The tree also bleeds

(B) The tree gets hurt too

(C) Blood will come out of its bark

(D) None of the above

‘Jab’ in the poem is used as :
(A) a noun

(B) a verb

(C) a jargon

(D) an adjective

A tree can't live without :
(A) sunlight, minerals, air
(B) air, water, minerals

(C) sunlight, air, water

(D) sunlight, water, minerals
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67.

68.

69.

Which of these is the best way to explain the
meaning of a particular word :

(A) Contextualise

(B) Examples of usage in sentence

(C) Dictionary meaning

(D) None of these

When

practice it is called :

language is learnt without any

(A) learning

(B) first language
(C) acquisition
(D) erudition

“Use stress and rhythmic patterns and
intonation patterns of the language and use
vocabulary appropriately’ are the micro
skills involved in which of the following :
(A) Speaking

(B) Writing

(C) Reading

(D) Listening
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Scanning is a reading activity which helps
the learners to ............ from/ of the text :
(A) draw out information
(B) enrich the vocabulary
(C) develop competence in the linguist

term

(D) know the meanings of the words

Chomsky made a distinction between :
(A) words and phrases

(B) grammar and semantics

(C) syntax and semantics

(D) syntax and grammar

Which of these is true about learning of a

second language :

(A) It 1s an unconscious process and no
formal classroom training is required

(B) It is a conscious process and no
formal classroom training is required

(C) It is an unconscious process and
formal classroom training is required

(D) It is a conscious process and formal

classroom training is required
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73. Choose the most suitable alternative n I 75. 1 do not agree .............. you :

74.

accordance with the correct use of tense :

(A) As soon as I entered the room, the clock
struck ten.

(B) As soon as I entered the room, the clock
has struck ten.

(C) As soon as I entered the room, the clock
strike ten.

(D) As soon as I entered the room, the clock

will strike ten.

Directions (Q. 74-77) : Four alternatives
A, B, C and D are given under each
sentence. You are required to select the
most suitable alternative to fill in the

blank in the sentence to make it

meaningful.

The Sun iS c.cneeasassossss .
(A) stationery
(B) stasionery
(C) stasionary
(D) stationary

30

76.

i A

(A) by
(B) with
(C) at
(D) to

The train ............... before I reached the
station :

(A) had started

(B) has started

(C) started

(D) starts

Though the leader is foolish and
dishonest, ......... people vote for him.

(C) however

(D) yet
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Directions (Q. 78-85) : Read the passage
given below and answer the questions that
follow.

The modern youth are more intelligent and
hardworking than the previous generations. They
have more facilities for education and they do
utilize them. But they lack proper direction. In the
absence of proper guidance young boys and girls
20 on increasing their academic qualifications.
Some of them secure high percentage of marks
whereas most of them get average or below
average marks. Since the number of aspirants for
a job is much higher than the number of
vacancies, most of the young boys and girls do not
get any employment. This causes the problem of
the educated unemployment and depression
among the youth.

The problem of the educated unemployed
can be solved partly through proper guidance and
counselling and partly through grooming. Young
students often disregard the advice of their parents
and go on imitating their peers. This sets in the
chain of the blind leading blind. Uneducated or
think
qualification as achievement. Young students

semi-educated parents of academic
must seek the advice of the school counsellor and
select a course of studies that suit their aptitude.
Instead of in pursuit of academic excellence, they
must go in for proficiency in technical field of
information technology, computers, biotechno-
logy, biochemistry and consumer services. In this

EN
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way their youthful energy will get directed in
the proper channel and they may get fruitful
employment or become competent enough to

launch their own project and give employment

to others.

78.

79,

What is the positive aspect of today's

generation :

(A) They are more intelligent and hard
working B T

(B) They are more into fashion and time
pass

(C) They have the power to work less and
get more

(D) The youth now knows what he has to
do

Academic qualification is seen as an

achievement, which adds to the problem

due to :

(A) uneducated or semi-educated parents

(B) increase in the urge of getting higher
remuneration

(C) lack of focusand attention

(D) disillusionment and depression
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80. Frustration, irritation, anger, indiscipline,

81.

82.

arrogance, disillusionment and depression

are all the result of :

(A) growing modernization

(B) educated unemployment

(C) aspirations not making goals

(D) lack of grooming and counselling

But what are they lacking behind from is :
(A) academic qualification

(B) lack of direction and guidance

(C) requirement of better faculty

(D) infrastructure of colleges

The problem of the educated unemployed

can be solved by :

(A) providing them higher opportunities

(B) increasing the ratio between vacancies
and aspirants

(C) guidance, counselling and grooming

(D) sending them for higher studies

B

ACEB - FIR

83. To get fruitful employment :

(A) Do more of hardwork
(B) Listen to what parents say

(C) Go through counselling sessions
(D) Channelize their energy in proper

direction

‘Students should not follow and imitate
their counter parts’, find a phrase related
to this meaning :

(A) Imitating their peers

(B) Chain of the blind leading blind

(C) Lack of proper guidance

(D) Check piracy

Many young boys and girls do not get

employment :

(A) Because they are not thorough with
their subjects

(B) Lack of guidance and knowledge

(C) Number of aspirants out number the
vacancies

(D) Recession
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86.

87.

Choose the correct active voice of the
italicized sentence from the options given
below :

Let your teeth be shown to me by you.

(A) Do show me your teeth

(B) Show me your teeth

(C) Let you show me your teeth

(D) You should show your teeth to me

Choose the correct indirect speech of the

italicized sentence from the options given

below :

“What should I do with it, mother ?’’ Ravi

said.

(A) Ravi asked his mother if what he should
do with it.

(B) Ravi told his mother what he should do
with it.

{C) Ravi asked his mother what should he do
with it.

(D) Ravi asked his mother what he should do
with it.

]

88.

89.

90.
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Choose the option with the correct use of
comparative degree of the adjective for
the italicized sentence :

I didn't think it would be so difficult.

(A) It. was more difficult than I thought
(B) It was so difficult than I thought

(C) It was not as difficult as I thought
(D) It was most difficult than I thought

Choose the correct meaning of the idiom
italicized in the sentence :

The new secretary made his maiden
speech.

(A) Strong speech

(B) First speech

(C) Final speech

(D) Perfect speech

Fill in the blank with appropriate
conjunction :

Mr. Roy is il ............ he has not come.
(A) hence

(B) and
(C) therefore

(D) because
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I oTe (Mathematics) |

qfc 4* — 4% —24 T‘;?rﬁ’r(Zx)I T HH T—
(A) 5

J eI, e e ¥ wmEw 20% 3k
50% e B, & 3T X domsw ¥ srum
Bm—

(A)2:5

(B)4:5

(©)3:2

D)5 :2

94. TF ATTER FEvE Ft T R S 5

ST 1 S%ﬁmmmwm
ST BI— |

(A)2:1

(B)3:2

(C)1:2

(D) 37 ¥ H1g 7&

|

|

91.

92.

93.

94.

L]

If4" — 4" =24 then the value of (2x)" is -
(A) 5

(B) 25

(€©)25+5

(D) 125

o S L

The LCM f-—,-,-,

i
]
A_..
)
(B)
36

©) 55

D) 59

Two numbers are respectively 20% and 50%
more than the third number then these two
numbers are in the ratio

(A)2:5

(B)4:5

(€)3:2

(D)5:2

The ratio of the length to the perimeter of a
rectangular plot is I : 3, what will be the
ratio of the length to breadth of the plot :
(A)2:1

(B)3:2

() 1:2

(D) None of these
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96.

98.

Bl p:g=r:s=t:u=2:3 @l

(mp + nr+ot) : (mgq + ns + ou) & el
e—

(A) p:(g+r)

(B) (p+4):7

©)2:3

(D)1:2

fr § SR-9 = 51457 +5° W
qofa: fawife X TR —

(A) 150

(B) 155

(C) 160

(D) 30

T

96.

97.

| 98.

ACEB - FIR

If p:g=r:s=t:u=2:3 then
(mp+nr+ot) : (mg+ns+ou) 1is equal
to :

(A) p:(g+r)

B) (p+q):7

(C)2:3

(D)1:2

Which of the following number can exactly
divide to 57 +572 +57 :

(A) 150

(B) 155

(C) 160

(D) 30

The value of \/72+J72+J72+ ..............
will be :
(A) 18
©9

(B) 12
(D) 8

In the following figure, the value of Zx° will
be :

(A) 60°
(C) 70°
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99. & 9T 15% wfaad & qanv =5

fevd T9F § =R T 8 sEeh—
(A) 10 54
(B) 15 =4
(C) 20 99
(D) 30 99

100. $8 WHd el H1 3i9a 15 21 i yeeh

101.

|&A ¥ 30 Sirg fean s iR sty gem Y 5

v for w@ @ siew 17.5 e #, wea

Sl W e et 2—
(A) 30
(B) 20
(©) 15
(D) 10

P o Q %I aft 31/ % 4 : 3 = a7 2
mmﬁﬁs:zmaﬁm&ﬂﬁﬂ%
3 ¥ 39 ¥ T 600 991 1 37 oy
T B—
(A) T 450
(B) T 500
(C) X 600
D) T 750

47

99.

100.

101.

ACEB - FIR

In how many years will a sum be four times
of itself at 15% rate of simple interest per
annum :

(A) 10 yr
(B) 15 yr
(C) 20 yr
(D) 30 yr

The average of some natural numbers is 15.
If 30 is added in first number and 5 s
subtracted from last number then average
becomes 17.5. How many natural numbers
are there :

(A) 30

(B) 20

(C) 15

(D) 10

The ratio of annual incomes of P and Qis4;
3 and the ratio of their expenditures is 3 : 2.
If both of them save T 600 in the end of year
then difference of their income is - .
(A) X 450

(B) ¥ 500

(C) T 600

(D)X 750
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lm.ﬁﬁﬁfﬁﬁmﬁl:rﬁﬂgﬁﬁﬁﬁww 102. When Nikunj is told to find the%hﬂfa
fraction, then by mistake he divides the

3

ﬁmﬂaﬁ%wfﬂf—rﬂg@rm%ﬁm . 1
fraction by 5 and gets the result = more

aﬁxaﬁmﬂ% afes 3w ww fan, =%
fimt grfi—

than the original result. The fraction will be :

2

@A) % (A) =
: 3

®)2 3
5 3

(©) % (©) *,}
| 4

(D) _j;_ (D) g

-1 =3
103. (100)""* x (0-00p'" - (0-0016)" x3°+[§) 103. (100)"2 x (0-001)"* - (0-0016)"* :-c3“+e)

1 TIEAHT A e is simplified to :
(A) 1.6 (A) 1.6

(810 (B) 1.0

(€038 (C) 0.8

(D)0 (D) 0

104 ol 954 & 9567 o3 991 9 oI &1 3w 104. Thedifferencebetweenthese[ingﬁriceand

3 210 1 3fe oy wfowa 25 &, S ag = | cost price of an article is ¥ 210. If the profit
fama 7eg 8— percent is 25, then the selling price of article
(A) T 950 - Is :
(B) % 1050 (A) T 950
(C) T 1150 (B) T 1050
(D) T 1250 (C) T 1150

(D)X 1250
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105.

106.

107.

108.

Rl

B—
(A)10:6:7
B)7:6:4
(C)11:10:12
(D)15:10:6

0| -

-%-l:#:ﬁ:loaﬁ ﬂ:b:ﬂmqﬁ
C

y ® x%+x & y% foad auaw em—
(A) 3 =T xy%
(B) xy =1 2%

(C) x =1 v%
(D) y &1 x%

frefataa = 7 82—
4-[6-{12-(10-8—6)}]

(A) 0

(B) 1

(C)2

(D) 3

]

105.

106.

107.

108.

ACEB - FIR

Ifl:—1~:1=4:6:101hcnthevalueufa:b:c
a b c

IS :

(A)10:6:7

(B)7:6:4

(C)11:10:12

(D)15:10:6

x% of y+ y% of x is equal to :
(A) xy% of 3

(B) 2% of xy

(C) y% of x

(D) x% of y

The value of following is :
4-[6-{12-(10-8-6))]

(A)0

(B) 1

(©) 2

(D)3

Who said ‘*Mathematics is the science
which draws necessary conclusions’” :

(A) Hagber

(B) Locks

(C) Benjamin Peirce

(D) None of these
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109. afe U9 Ht WiEs 319 @WH 9 60% AfHs
Aq WA WEE A W Y wH |

Bt—
A)37 =%
(A) >

110. 9o f53 & 0, 99 %1 &% € 3R X0, OY
W & 21 3 AXOY 1 89% 32 B @1 g9

1

1
B)36 -%
(B) >

1
C)30-%
(©) >

(D)35—;-%

F A BM—

X Y
(A) 16 (B)32 =
(C) 64 (D) 256 T

111. 50 == (?) =1 99 8—

1+

(A) <

©) -

1

1+—L

1+?

k=1
mmzm

8

S

(B) <

(D) —

50

109.

110.

111.

ACEB - FIR

If Ram's 'mﬂnthly income is 60% more than
that of Shyam, then how much percent is
Shyam's monthly income less than that of
Ram :

(A)37 %%

1
(B) 36 E%

1
C)30-%
(€) >

(D) 35 %%

In given figure, O is the centre of circle and
XO 1s normal to OY. If area of A XOY is

32 then area of circle will be :

X  §
(A) 16 (B)32 =
(C) 64 1 (D) 256 7
The value of blank ( ? ) will be :
o 11 =§
14—
1+?
| |
A) = B) —
i (B)
1 1
6= L
25 (0)4
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112. 993 & il % W9 siwd ¥ wady
<Y 8—
(A) TUE-org
(B) Fu-arerE
(C) sa-fax
(D) ¥@r-3rerg

(C) F99 TFeqTIos 3 T77
(D) %3 TeReT &7 Fui w7

114. leoedl & i fyem = e £ B
O
(A) =31 %t =R Sfran =1 Tfordiame
(B) @SS ¥ o7 wvdi 91 2t Fram
(C) T== ®I ISR Iy T
(D) s==i =1 G ¥ WS T

113.

114.

ACEB - FIR

| 112. Displays data that changes continuously

over periods of time -
(A) Bar graph

(B) Pie graph

(C) Histogram

(D) Line graph

Which of the following methods is most

suitable  for  the development of

Mathematical skills :

(A) Conducting hands on activities in the
class

(B) Clearing concepts and procedures
followed by more and more practice

(C) By giving only conceptural knowledge

(D) Describing algorithm only

The main aim of maths teaching in

schools is :

(A) Mathematization of thought process of
children

(B) To solve the problems given in the
textbook

(C) To make children fit for employment

(D) To entertain children through maths
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115. wgfs demel # feifea § § -3

116.

117.

T& Bl 8—
(A) AMAE TTHF
(B) 3 H fafma ==

(C) oS TedHh
(D) 39U |l

TF AR 2T Ie9 W 10% 981 &4 & 915
9 10% =19 FHEAT 21 T 77 ifa goa Tt
a5 F H9 T wl—

(A)X 63

(B) < 69.30

(C)X 69

(D)X 84

F-IV § &F%a HI GURUN & Ui=d

=H & fou e Fa1 ¥ IR & S

3

(A) U=, TEaH, A e Tl & dqdl
Fl o 5

(B) U 3Fd & o 3 =igr = um
F AAFSA S AT R

(C) foslt aTfa # 11 I THE T
i &we &t 0T B

(D) 3TeTT-3T SMFHGAl & &T%e Ja H
F T3l F e F=F

&2

ACEB - FIR

115. Which of the following properties do not

116.

117.

exist in natural numbers :

(A) Additive identity

(B) Commutative law of addition
(C) Multiplicative identity

(D) All of the above

A businessman earns a profit of 10% by
allowing a discount of 10% on the marked
price. If the marked price of an article isI 77
then the cost price will be :

(A) 63

(B) < 69.30

(C)T 69

(D)X 84

How a teacher can start for introducing the

concept of area to class IV students :.

(A) Compare the surfaces of a leaf, note
book, table etc.

(B) Calculate the area of a rectangle by
multiplying the length and breadth.

(C) Calculate area of a figure by counting
the number of unit square inside it

(D) Explaining the formulae of finding the

areas of different figures
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119. T4 3970 AT Fae 398 soafy &

120.

WA od WNE ¥ FW A 2, ¥ fow

397 fafe fr=ifse e = feesi 5 @ I

ﬁﬁ-q__

(A) BHE1 I HifaF &9 F 52 51 =9 fear
EIp|

(B) 91 & ¥ # ffsm fr ¥ =y 3
TSR FX WE H4

(C) =, i, Ywalt e aeqell &1 wom
% FTER WYEFI F WY F4)

(D) 971 % ¥ F 9R-9R TG FX WO
F

AT I FAAT F AT F F e e
ST el e—

(A) gt frafe

(B) 9gd ¥R HaITT & A

(C) =T T TN G+t

(D) Sfa&q =1 7@

Fe=tifera & 9 e fafs =1 98t =9 gfr—
(2) QET=IHTOT

(b) g

(c) ST T FEgediehor

(d) herr W S

(A) abced

(B) achd

(C) cbad

(D) cdba

ACEB-FIR

118. Select a suitable approach from the options

+ 119,

120.

given for explaining that the remainder is
always less than the divisor to class IV
students :

(A) Explain verbally several times.

(B) Represent division problems as mixed
fractions and then explain

(C) Grouping of objects like marbles, balls
pencils etc according 1o the divisor.

(D) Explain by demonstrating  division
problems several times

Most suitable strategy that can be used
to intermalise the skill of addition of money
IS :

(A) Role play

(B) Solving lots of problems

(C) Use of ICT

(D) Use of models

Which of the following is the correct
sequence of inductive method :

(a) Generalisation

(b) Observation

(¢) Presentation of examples

(d) Testing and verification

(A) abcd

(B) acbd

(C) cbad

(D) cdba
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_ St

_Environm_e_ntal Sjudies

REfE i@ R I .
(A) 9F, =
(B) g, HRAT
(C) TaFl, ¥
(D) =1, T

122. e &1 IS H QfGHRS FeE1 W 7
FiTh 379 el ¢
(A) Y984 =i &
(B) arSdicHSi hi fRa
(C) YY1 Geeuul i fsma
(D) ST |4l

123. ‘950 9RG 99’ & Uois f9e 9l [FE s &
mﬂ@ﬁwﬁmw -
(A) S HIE&I
(B) Saifa aifenl
(C) 5 & HEu
(D) ¥R i

124. 1 9 19 Afman Hedg aH 3fg &
fore ot ©
(A) FARGARIGTE
(B) Hig
(C) FrE SRATFRS
(D) EZH TS

125. =g Hash e 9 e witaus 19 = sard

(5]

121. In following, Rabi’s crops are :
(A) Paddy, Gram
(B) Wheat, Maize
(C) Maize, Paddy
(D) Gram, Wheat

122. Plants are known as purifier of atmosphere
due to process of :
(A) Respiration
(B) Transpiration
(C) Photosynthesis
(D) All the above

123. Rajendra Singh of ‘Tarun Bharat Sangh’ was
awarded Magasasy for the work of :
(A) Water conservation
(B) Social forestry
(C) Conservation of forests
(D) Solar energy

124. Which gas is responsible for the maximum
contribution to global warming :
(A) Chlorofluorocarbon
(B) Methane
(C) Carbon dioxide
(D) Nitrous oxide

125. Domestic cattle and sheep are responsible for
the release of which green house gas :
(A) Ozone
(B) Nitrous oxide
(C) Chlorofluorocarbon
(D) Methane
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126. 54 % FeA & yq@ RO ¥ :

[. S9-9IvE & Wiehfash EM &l fam
II. STe-9sh0 I 999

M1 &1 3T9EA

IWE § 9 FF G FYT FE T

(A) ®ad |

(B) #aa [ SR 11

(C) Faa il

(D) 1, 11 3R 111

127. TE-HEF & @@ €

(A) =1 T8 €@l S
(B) 995 “ia-fafaemr
(C) 3ifeF I=RHA

(D) R @ ™ |+t

128. ©@F SEel 5 "G WEAl &I FRE Tgdt

T FHedwl % -

(A) TIRFEiq® Hger
(B) SE-Figor

(C) B ®X

(D) -3

129. FIAIY VARV = & fow s s €

(A) @i & fog
(B) =wiferil % ferw
(C) uferai & faw
(D) F&d 1 & fag

ACEB - FIR

126. Major consequences of deforestation are :
I. Destruction of natural habitat of wild animals
II. Impact on water cycle
[1I. Soil erosion |
Which of the statement given above is correct :
(A) Only I
(B) Only I and I
(C) Only III
(D) [, 1 and il

127. Estuary is characterised by :
(A) Freshwater and marine water
(B) Rich biodiversity
(C) High productivity
(D) All the above

128. Increasing concentration of toxic chemical
in the food chain 1s called :
(A) Ecological balance
(B) Biomagnification
(C) Trophic status
(D) Biodegradation

129. Kedarnath Sanctuary is known for :
(A) Tigers
(B) Elephants
(C) Birds
(D) Musk deer
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130. 558 g1 § 9@ UROT &Hal SAfuE Bl
 :
(A) THE
EE
(C) Tt
(D) a1

131. ‘9 ® sfa-wifw 1 S H@ I
®
(A) W. SRaA FEAT Bl
(B) B TH. TH. WHMAIEA &l
(C) . . 3. 4. JIFR F

(D) =i &t FfEa =

132. 9% W S 3 aren &l ®
(A) MEhfeH
(B) &fHT &2
(C) Twag™
(D) g

133. sTfés woeue T <90 99 ¥
(A) T
(B) T
(C) &m
(D) &It

134. HisieEs g0 fre wivEl =1 30 99 9 ©
(A) SHI Sl F
(B) &gy gl =1
(C) ierai =1
(D) TR Sial

&3

ACEB - FIR

130. Which soil have more water holding
capacity :
(A) Loam
(B) Sandy
(C) Clay
(D) Fine sand

131. Who is called as ‘Father of Green Revolution
in India’ :
(A) Prof. Beerbal Sahni
(B) Dr. M. S. Swaminathan
(C) Prof. M.O.P. Iyengar
(D) Dr. V. Kurien

132. The bird that lays eggs on ice is :
(A) Arctic tern
(B) Humming bird
(C) Albatros
(D) Penguin

133. Artic desert is the other name of :
(A) Tundra
(B) Savannah
(C) Taiga
(D) Steppes

134. Mesozoic era is known as the era of :
(A) Amphibians
(B) Reptiles
(C) Birds
(D) Mammals

Set-D




135. Seifae ee fFae dafda 2
(A) TEEwH

(B) &9
(C) Tf¥&a el

(D) Tl 94l

136. YA SfAYE W ®H W SR YEE
TR F TOF TRE B GfeE F9d B
®9 § YT Ul © :

(A) TR 42
(B) 3I=3% 48A
(C) JIT=T S1A
(D) =T 20

137. 99 Hwm sfufEe & aagsmﬁmaﬁﬁé’r
g Tfafafy 2
(A) =13
(B) =

(C) RM&qd
(D) ST qT

138. SIgHYSE T S T A FE G (UV)
fotoll =1 9ot @i Hag W AF W Ik € ¢
(A) FHATHUSH
(B) &NsHvSH
(C) HEAqvEH
(D) SAFTIUEA

139, ‘ ardia e’ 69 YER & A ¢
(A) IR, FelHiad
(B) FUafias, eI
(C) IR, FaHigd
(D) IR=RE, SFaEHg
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135. The Chernobyl disaster is associated with :
(A) Soil erosion
(B) Earthquake
(C) Nuclear accident
(D) Acid rain

136. Which article of Indian Constitution is related
with the fundament duties of a citizen for
environmental protection :

(A) Atrticle 42
(B) Article 48A
(C) Article 51A
(D) Article 20

137. Which farming is non-forest activity under
Forest Conservation Act :
(A) Tea
(B) Rubber
(C) Mulberry
(D) All the above

138. Which part of atmosphere blocks ultraviolet
rays of light to reach earth’s surface :
(A) Stratosphere
(B) Troposphere
(C) Mesosphere
(D) Ionosphere

139. Which type of resource is ‘Geothermal
energy’ :
(A) Conventional, Renewable
(B) Non-conventional, non-renewable
(C) Non-conventional, renewable
(D) Conventional, non-renewable
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140. 9@ = B AT F €
(A) 5T T
(B) &
(C) =i
(D) 9=

141. T, YT 991 TF & fad ifys Hed 2

T

(A) TS FHEHd Sifadl & H2ed S T
& E | 3T @I

(B) TS GrEta Sfadl & 78 & {9
E | 3T GO

(C) | | Gafum wifadi & 7&4 51 & @
wH H 3 @ €

(D) R ¥ Wetyd wiqa & A4 & 9=
o ¥ 3 W e

142. st a=41 ®1 TIEOT AAFT H (AW A
dren & foau s e #9 § SEvasad
e

(A) FIATHS / 39 ITIF II3FHH

(B) e a4l ¥Ha! Ued qRaw

(C) THa UG o 91 SEAl T&d
Tl

(D) 3TUEd |l

143. T9a0 FAET ® 94 & qed WEw
THaF T
(A) Tdaeor qen fifd
(B) sfieafa, same it S
(C) yzams, Tavemm AR Fam
(D) 35 |l
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140. Hydrological cycle is under control of
(A) Grassland
(B) Forest
(C) Planktons

(D) Epiphytes

141. Competition for food, light and space is most

severe between :

(A) Closely related species growing in same
habitat

(B) Closely related species growing in
different habitats

(C) Distantly related species growing in
same habitat

(D) Distantly related species growing in
different habitats

142. Needs of all children for teaching-learning
process of environmental studies in each
classroom are :

(A) Cognitive/age appropriate curriculum

(B) Conducive and non threatening
environment

(C) School based assessment and reporting

(D) All the above

143. Important learning indicators of environmental

studies are :

(A) Observation and reporting
(B) Expression,  explanation  and
classification
(C) Questioning,  analysis and

experimentation

(D) All the above
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144. WA TR T TR/ AATT Hi NG-TF
§ frefafas 4 9 9 o v 7 o4
ey :
(A) 7 WEGfad IR GHN-QiEEE aRaw
F Thigd S o Tqd F &
(B) 7z Toanfiai #1 afasagel goyfE &
ST Bl G0 HA B

(C) I7 arsifoass Feidl IR Se3i &l ke
F B

(D) g wfeammel iR omd SrEuRonsT
A FH W SF Bied F §

145. TR0 eaad & w2 e 9 @ =m
(A) diffs iR Tmfss wEfao § g

?.‘r.%.' ﬂ ﬁ ﬁ m

(B) fom & emuRs@ wowdl SR fagr=i #

. R AR H

(C) TFIERYT &l @ieH (TFH) & a9 95H
FE

(D) &eiaA, A, wfas Hom 3R i
S wive & faw |

146. 'eI@?f ] .mclﬁ R ¥
(A) Fdi
(B) Fa1 ARG

(C) T
(D) 4 |l

147. WUiHF € W 9960 dA2a ° 9Ed
A Hed-faer w1 T seayyl gaee
€, i
(A) F& arafas fafml 5 dem & 3am

Y= FI 2

(B) 7% EMI ¥ UG B Al SHEE §
(C) T8 WHERR 3R 1 =afem & €
(D) 3% G+ IF9C G B9 &
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144. Which one of the following characteristics
an Environmental Studies text book at
primary level should not have :
(A) It presents natural and socio-cultural
environment in an integral manner
(B) It caters . to diverse backgrounds of the
students L
(C) It includes true stories and incidents
(D), It focusses on definitions and explanation
of abstract concepts

145. Which one of the following objectives is not
required to teach Environmental Studies :
(A) To develop sensitivity towards the
physical and social environment
(B) To memorise basic scientific concepts
and principles
(C) To provide opportunities to explore the

environment
(D) To develop skills like observation,
measurement,  prediction  and

_ classification

146. Deforestation will decrease :
(A) Rain fall
(B) Soil erosion
(C) Landslides
(D) All of these

147. Human community is an important teaching-
learning resource in environmental studies at
primary level, because :

(A) It provides learning opportunities in real
conditions

(B) It is an easily available resource

(C) It comprises wise and elderly people

(D) All the above opportunities are availabie
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149. fafrarer 1 weuor wifta I € W1 9Romm

t:

(A) 9% ¥ foer 9a &1
(B) 9gHvSd | TS S B H
(C) siieifs 9w =ad =+t Wt ¥ BreA

1l

(D) U™ & FEME ¢ & 94 & THE H

Sie &l

150. 9=t 1 =1 9= 11 9§ Qoo ST :

e |
a. TaEReT (IET)
syt

gt 11

1. 1974

b. F=reila (Fa) fuFEs 2. 1986

c. 91 (geEgen) Aiufras
d. ¥a (g9 Harer e

=) sfataas
a b
(A) 4 3
(B) 3 1
(). 2 4
D). -2 3

= N 5

N

3.1972
4. 1980

L N
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148. The place of origin of the Bhagirathi river is :
(A) Pindan glacier
(B) Satopanth glacier
(C) Chorabari lake
(D) Gangotri glacier

149. Minamata disease i1s a pollution related
disease which results from :
(A) Oil spills into sea
(B) Accumulation ofarsenic into atmosphere
(C) Release of industrial mercury waste into
water
(D) Release of human organic waste into

drinking water

150. Match the column I with column 11 :
Column 1 Column H
a. Environment (Protection) 1. 1974
Act
b. Wildlife (Protection) Act 2. 1986

c¢. Forest (Conservation) Act 3. 1972

d. Water (Prevention and 4. 1980
Control of pollution) Act
a b c d
(A) 4 3 2 1
(B) 3 1 4 2
(O 2 4 1 3
(D) 2 3 4 1
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Important Instructions (ACEB - FIR)

Before answering the questions the candidate should read carefully the following instructions :-

1.

10.
11.
12.
13.

14.

Immediately after opening the seal, check to ensure that there is no defect in the Question Booklet and
all the pages are intact. If any defect is found immediately inform the Room Invigilator. If necessary,
the Question Booklet will be replaced.

The candidate has to answer 150 questions in all. Each question carries 1 mark.
Answer the questions in the OMR answer sheet only.
Read the instructions given in OMR answer sheet carefully before answering.

There are four alternative choices against each question. Select the correct and most appropriate
choice and mark it with blue/black ballpoint pen in the right bubble of the OMR answer sheet in such
away that ink does not spread out of the bubble.

Question Nos. 1 to 30 are related to Child Development and Pedagogy.

Question Nos. 31 to 60 are related to First language — Hindi OR English. Candidate has to select the
questions of only one language as the First language. Answer the questions of the language which the
candidate has selected as First language in his/her Application form.

Question Nos. 61 to 90 are related to Second language — Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one language which the candidate has selected as Second
language in his/her Application form. Be careful that the language selected as First language

cannot be taken as Second language.

Question Nos. 91 to 120 are related to Mathematics.

Question Nos. 121 to 150 are related to Environmental Studies.

Rough Work can be done in specified space of the Question Booklet.

Do not waste time in solving the questions. If you cannot answer a question proceed to the next one.
Do not fold or damage the OMR Answer sheet in any way.

After examination submit your OMR Answer Sheet to the invigilator. Candidates are allowed to take
away the carbon copy of OMR Answer Sheet and Question booklet.

et L LY S

"UVSP uve




